A = QIILSESFY ZHE24(2) (2018 9&)
> 2 CHHl, 9=HUIE 0 o, OIMATI(PMo) 1 sg/m, ZO0IA
DIXI(PMps) 3 48/M, @F 2 ppb 24, OFRAIIAS YAsiEIAE =20}
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oees Ge/m) | (e | PPD) (opb) | (ppb) | (ppm)
_ - ol ol 150/03P 100/@3 A2t A2
sz | WE | BE | PR | WY | oME | puB
H=(20184 87)| 25 15 4 16 31 0.4
=g | 24 12 4 19 29 0.4
20182 51=00HI | 48 % | 80 % | 20 % | 63 % | 48 % | 4 %
CE=C | 38(38) | 22 5 23 28 0.5
57 9B B | 39 22 5 22 29 0.5
BT CXER (9g) 48(46) | 26 6 23 29 0.6
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> OIMEZXI(PMy) SEEFIE 20(RE) ~ 35(HIA) wg/m, BRsTE 24 ug/m 2
EBINIE(50 wg/m)2l 48 % =E. NFLE2E= AR, 7, A7 XH0I
=2 HOIYL] REA, 8L, €57 SUHA iz &2 HOIJAT
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[ 2] 22t DINMBX HE=0
> T2H IS =S¢ 2EAZ, MF(20184 8F) [HH| =0IMISX
(PMos) 2 pg/m', @ ppb ZAMD, OIMSXI(PMg) 5 mg/m, Ol AHSHEIA
4 ppb, YASIEIA 0.1 ppm SIRICH, OFHADIAS SEIF UL 22 34
=2 [HHIR= DIMIXI(PMo) 9 wg/m', EOIMHKI(PMys) 9 4g/m', OFEHADRA
2 ppb, OIABIEIALS | ppb 2AMD, @FD AMFIEIAS ST 2EQHCH
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> PMos= 7 wg/m(JE, 2, Heh) ~ 19 w/m (e s& 8HAZAM,
Ba 12 mg/m =F22 M3 Ul 3 mg/m L UALH PM2s/PMyy 282
B2 50 % =F2=2 HH(60 %) 2Lt FACH A5, AY, D& &9
=80 =10 B, HFE, FE S22 E=2 ¥ MESIA0UA 9
T Atet PM2s W Ol2 & BHAEES F8HIE B4 d20 S25 012,
2o, Zago HIES0 =US. M 42k 0l g HELE=22
FHH2HlE OC 32.2 % > NHs 18.1 % > SO 17.6 % > NOz
174 % > EC 8.4 % 2 =0I/US.
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[E 2] NEXHF ADIOI e LXASE HEHS (Sl tpg/m)
T2 | Na" | NHs | K | Mg? | Ca®* | CI” | NOs [ SO& | EC | OC |PMzs
95|02 |13]00]01 02|01 |17 |17]07]28] 84
£ 01 (3900|0003 |061]|27|25]| 13|39 183
o221 01 ]163|00|01[03]02]|46 0825139277
JIEt} 02|17 100|00]02)|02 15|16 |08]30]29.0
2| 021700000202 |16 |16 |08]|30]292
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> 0B ==& SEZL, =2 S=SEI pPb2 0.0165 w/m 2 &
(0.5 wg/m) OILHR L), RHS=% Cde 0.0004 wg/m 2 WHO=R I
(0.005 wg/m-A) OILHACt. Fe 0.3132 ug/m, Mn 0.0143 wug/m, Cu
0.0131 wg/m, Ni 0.0023 wg/m, As 0.0018 wg/m, Cr 0.0017 ug/m &
CZ LEED, EAIJIF =22 Ca 0.2316 ug/m, Al 0.1338 wug/m,
Mg 0.0801 wg/m =22 ZAMEUS[E 3].

[ 3] 92 =2 =3AY (S @ ug/m)

7= PMio| Po | Cd | Cr | Cu | Fe | Mn | Ni | As | Al | Ca | Mg | Be

938 | 24 |0.0165/0.0004/0.0017)0.0131/0.3132/0.01430.0023)0.0018/0.1338/0.2316/0.0801| 0.0000
82 | 27 |0.00880.0001/0.0017/0.0076/0.2382/0.0099|0.0044/0.0015(0.1487/0.2105/0.0781| 0.0000
98 | 32 (0.0217)0.0005/0.0038/0.0177/0.6095(0.0267|0.0029/0.0050/0.3796/0.6497|0.1263) 0.0000
Bz | 48 0.0221/0.000710.0030/0.0174/0.5852/0.0265/0.0040/0.0034/0.3209/0.90070.1733) 0.0000
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HE(20188 8&) EZ pH 5.4 ¥ HEE (201749 9€) 2 pH
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